
Übung	macht	den	Meister
Längenmaße

Wandle	in	das	jeweils	kleinste	Maß	um.1

3	m	5	dm	7	cm 8	m	4	dm	1	cm 9	dm	3	cm 4	m	3	cm

5	m	2	cm 1	m	9	cm 8	m	2	dm	4	cm 9	m	6	dm	8	cm

3	m	5	dm	7	cm 5	m	2	cm 9	dm	3	cm 8	m	4	cm

2 Unterstreiche	die	richtigen	Aussagen	rot.

9	cm	sind	kürzer	als	1	dm. Von	8	cm	fehlen	2cm	auf	1	dm.

10	cm	sind	länger	als	1	dm. 2-mal	5	cm	sind	kürzer	als	1	dm.

1	dm	ist	so	lang	wie	100	cm. 15	cm	minus	5	cm	sind	1	dm.

3 Wandle	in	cm	um.

4	dm	5	cm 10	dm	6	cm 8	dm	1	cm 5	dm	7	cm

7	dm	2	cm 2	dm	9	cm 3	dm	4	cm 20	dm	6	cm

4 Entdecke	die	einzelnen	Maße.
349	cm	=	3	m	4	dm	9	cm

45	dm 31	cm 560	cm 13	cm

207	cm 560	cm 690	cm 405	cm

99	cm 241	cm 58	dm 902	cm

5 Wandle	in	cm	um.

3dm	5cm 2m	6cm 14dm 1m

3m	4dm	 4m	17cm 9m	7dm	3cm 7m	14dm


